
Final test revision 

Ligamentum___ transversum___ scapulae___ ruptum___ 

Laesio musculi___ extensoris____pollicis____ longi ___.  

Corpus vesicae___felleae___ .  

Fracturae ossis___ilii___ et ossis ___pubis___ .  

Ruptura traumatica___musculi____ abductoris____ digiti____ minimi____ pedis___lateris____ 

sinistri____ .  

Tunica mucosa___ oris___ , linguae____ et laryngis____ . 

Functio laesa___ musculorum____ levatorum____ costarum____(PL).  

Musculus____ sphincter___ urethrae___. 
 
Condylus lateralis____ et medialis____ femoris_____ . 
 
Sulcus tendineus/tendinis___ musculi____ extensoris____. 
 
Bursa subtendinea___ musculi____ . 
 
Pars nasalis__ ossis____ frontalis____ 

In basi____ ossis____ sacri____ .  

 

Make  plural forms of the given nouns and adjectives: 

Pars subcutanea – partes subcutaneae 

Margo liber unguis – margines liberi unguium 

Musculus quadriceps femoris – musculi quadricipites femorum 

Articulatio capitis costae – articulationes capitum costarum  

Radix dentis – radices dentium 

 

Find opposites: 

Operabilis - inoperabilis 

Supraorbitalis - infraorbitalis 

Dyspnoe - eupnoe 

Musculus longus - brevis 

Hypertensio -  hypotensio 

Diastole -systole 

Dystrophia -eutrophia 



Glandula exocrina -endocrina 

Osteosclerosis - osteomalacia 

 

Form comparative and superlative forms of given adjectives / prepositions.  

Complete the following phrases using one of the forms:  

Parvus, a ,um: pelvis ___minor__________________ 

Infra: membrum ___inferius_____________ 

Latus, a, um: muculus__latissimus_______________ dorsi (superlative) 

Intra: tunica ____intima___________ oesophagi (superlative) 

Pars mollis, mollior, mollissima : in parte molli, molliore, mollissima 

 

Form new terms using prefixes, suffixes with the given meaning: 

Luxatio – incomplete luxation: subluxatio 

Nasalis – situated near the nasal cavities: paranasalis 

Mobilis – unable to move: immobilis 

Caput – equipped with heads: capitatus 

Operatio – able to be operated on: operabilis 

Plasia - the abnormal growth or development of a tissue or organ: dysplasia 

 

Make compound words with  given meanings: 

Haema + stasis - the stopping of a flow of blood : haemostasis 

Neuron + pathos – a disease of nerves: neuropathia 

Appendix + ectome – removal of an appendix: appendectomia 

Enteron + rrhagia – intestinal bleeding: enterorrhagia 

 

Match the definition with an appropriate term: 

Stop of urine production: oliguria  - polyuria  - anuria  

Surgery to create an opening into the windpipe: tracheotomia – tracheostomia – trachelectomia 

Inflammation of all or a part of the spinal cord : myelitis – myositis – myelosis 

Pain in the shoulder : ostalgia – otalgia – omalgia  

 



 

 

 

 

 

 

 

 

 


